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Time: 3 Hours Max Marks: 80

SECTION-A (5x4=20 Marks)
Answer any Five questions from the following
S58oHaPAS® DB 0 HHYE JSLXregrTren [EPAnE

1. Functions of Financial manager.
@gé QBETED Deoen.

2. Short term source of Finance.
é‘se%)s‘@é @gé JdBoen.

3. Watered Stock.
aoeo§ 3;5

4. Cost of Retained Earnings.
9D &0DJ wPJe Jgako.

5. MM Approach.
MM Qgedo.

6. Net operating Income theory.
DES ALen eTeds ‘z”oq;oéo

7. Time Value of Money.

(B P Dend.
8. Over Capitalization.

08 SroidEswm.

SECTION-B (5x12=60 Marks)
Answer all the following questions
S3(800 @) BB JSSreraren (Eeainsn
o. (a) Explain the Nature and scope of Financial management.
@gé QBgTres BoE) Hggro 0B BB HHBoSok.

(OR) / S

(b) Write the concepts of Profit maximization and Wealth Maximization.
orgfo KORBBE HBA ¥oDE KEHELEm FPHKOD (Fahos.

10. (a) Discuss the objectives of financial planning.
@gé Berd88es RBo¥) oo IGyosod.

(OR) / &oe

(b) Write the factors and Limitations of Financial Planning.
@gé (ear@EBes BoE) sPEECen 0BAN HOMEHOD (@D,
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11.

12.

13.

(a) Discuss Various sources of Capital.
DAE LS HIB0L HBoN $Gyosod.

(OR) / 8

(b) Explain the Causes and consequences of under Capitalization.
Q) SresdEBe sedemen SHB5W DERITOLH HBoBOE.

(a) Define Cost of capital? Discuss the significance of cost of capital.
VLS TAtNIRN(Os LI QBN0L0E? oSS g @"é)oap?gé 080N SByotod.
(OR) / 8
(b) A company has earnings available to ordinary shareholders Rs. 5,00,000. It has equity
capital of Rs. 50,00,000 face value of Rs. 100 each. The company’s Share is selling Rs. 200.
Compute Cost of equity. (Assuming 100% dividend payout ratio).
2.8 B0 Fprdes FErmehHeosH Er. 5,00,000 emrcsrd) SOA Gotnod. D6 a8

. 100 Sop densd . 50,00,000 S&d Soreswed) SOA ¢od. S0 HE &».200
DEooBod. S8 Sga8rR) 880508, (100% &QTOE BYoDH B0).

(a) What is mean by Capital Structure? Discuss the determinants of capital structure.
Koo Jo%Es0 08 dWH? Loresd QTR (‘Ogowofﬁ OO H$G)oLod?

(OR) / &
(b) ABC company, is expecting an EBIT of Rs. 1,00,000 whose equity capitalization rate (Ke) is

12.5%. Currently the company has a debt capital of Rs. 4,00,000 at 8%. Calculate the
value of the firm (V) and cost of Capital (Ko)

(i) When the company increases debt Rs. 2,00,000 uses proceeds to repurchase equity
Shares

(ii) When the company reduces debt to Rs. 2,00,000 by issue of equity shares, of the same
amount.

ABC 5029, ©s&@ sspe8aE0S B (Ke) 12.5% &) &». 1,00,000 EBIT Q woisze Skob.

(©%E0o 802 8% Eﬁcé 8. 4,00,000 ewoee Soredard) 8OA God. éo§ (V) Dendd 0805

Do 5oho (Ko)d 88osod.

(i) 808 B, 2,00,000 ewerd) DODSHD © G SH&d DS 8BA FHien
BHR8  EHBRAK08.

(ii) 80d o HPoe® 8B 1Y b wroe ey &, 2,00,000 & ERDILYD.



